H12l &+

'24. 4. 30.(3p) | AT AY9@2133-2730 A SR

olol
o™
o3
oX
ook
b
[NE)
J
w
&)
nft
ol
o0
Ho
%
B
[NE)
3
w
%)

[0 Al T

o 7| ZH:724. 6. 1. (E) ~ 6. 2. (8) [2L7H]
oF 4 EMEY I Y L7 XY 2, 3H 7
o LCf 2 0 100HH (B 38 F7| & QIR 192HH + A& QIR 97HE)
o TN TR
T AL o A &l Al
o 29419 2ZXH15K) A ¢ AlRIMHEE o B 27}
& Y 2355 » EE3T|
o FgaY AgAH31K) ZA o HY WA T2
~ 09:00 ~ 18:00 & FMTAM 2lojlE =9
< of7t® 2}, H|Ho| 9
& B 24 LO|E & A|DIEiYE AZXZA
~ 18:00 ~ 22:00 ¢ EE 2l0|E £:(6/1)
<« otd 25 DJ TE|(6/2)
SHXIeE
S Aot

L3 T

i

el+ie etZd 3F 31 9 E HIEgE

[ —1 WIEFL 4 ol
B Gy
S
JSaEE SXSURIA @ s
@ senss @ =
Y= =z -
E ] B ﬁ S
€ B
it st X
RSl
F73H2E Sl £H2CH
FUN MIBZE A | FUN mEE
e MBARIMEY FUN HMI-E B  caszcs o ol 2|7 65 A
’ - W e ARSI o SHIEHEIY - > ® oA XIEI7 585 A&

> ® Of2=HZ! (MEIX|HI2A) olL = 2xE ® SHUSHSET|

e &ZElE 9988 EH
e 7|y #A ==
o MBASESA

e
L)
L
L)
L]

3tz 27t
&tz A2 Dy mE|
JMA alo|E

SUEZal0|lE &

e IS HE FRIS X
® [S0|VIESHI= SRS



=
= =| =T . o = = I (==
o ANRIFENWE Z=O : MSABNEE, SHIEHER, 271 5 134
= T . = ) =
o NBIHEY TEIY : 4T 0|2, K-POP B4 BH 5 77}
-_— _ A = — =3
o NEEEE =208 : £35H 9988, S0 & & 471
THE T2
o (2ot _xig|e
AlZH AT B (SoE24~Zo|el) C?_g!
(Rt ~ofel=Hd) M| QI AT otdd S (ZTE~RltskE)
09:00~10:00
10:00~11:00 stz @D
11:00~12:00 T4 2ol zol €
ANEXS
i AN 2
. - . 4 4 o} ol =I5l 1= o o
12:00~13:00 | AolHz €D ZAMTAM 2lojE Zod ol =g JE 135 €L
sgEgery 1-29 |- =2 37/ED
:00~14:00 | - SHH2S= H474 =lol2 5 -
13:00~14:00 | - srzessI@D | 2474 2ol @ ot mlese
- BRIxHl2A e .
St Z2HE 3~43] = y &
14:00~15:00 | _ efAE Alet 20 = @D . A2 €D
TS oju = A" 23] — 0o|Al XIF A
-l g 2ot 3oi(6/1) €D e
15:00~16:00 -~ o S EYER! 5~63] 5z A=ED
ZE2J8 A K-POP 3P Zo4(6/2) — olay a7
(201 SIUEYELY 7~83]
16:00~17:00 FATY 2lo|= ol 6z =€)
_amoiy s olu] = 7E 33
- =0l 24
- ME2EHE 85 |51z @7t
- IBSHIE B2
. . _ ITCcEX
17001800 7 = Hel412 o=
6.1.(E) 6.2.()
H[EO],
18:00~18:30 =) =
BRE A
18:30~19:00 @ oflolztl =
19:00~19:15 PN
EEEES
19:15~20:00 olloi== 5 .
skt
[ 201 cao
g8 =
DJ T}E|
20:00~20:15 2l0|E 4
20:45~22:00




O stZ 38 Z7| I2A=(2)
o Y+ EZAK15K) =2

» =g 300m, ARHAH 10km, E2|7] 5km

+% 200mz2 R
(=Mstzze 495  Ial®

+% 300m2A
(QHIME4 AT S RIME])

A

O
o

o YA 4=2AK31K) =

A
T

Tkm, AHHH 20km, E2|7] 10km

C XPAAH 20km A HISFY e

HEZCHE SIS 10km

S A HISHx

e e

27| 10km

UG 212 Skm .

1km *

2

]




